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I Solution M
la z-1=(0-i)z+i-1; z2’=Q1-1)(z-2 0.25
2= =|@-i)z-D|=[—i|x|z-1
1b | |z — 24| =22, —24[; AM' = V2AM 1

=J2 ; AM'=2 ; M'eC(A;2)

arg[z'-1] =arg[(1-i)(z-1)]=arg(l—i) +arg(z -1);

1c S A — 1
arg(u;AM) :—Z+(u;AM)+2kn

|z'-z|=|@-i)z+i-z|=|-iz+i|=|i|]z-1 =|z-1]; arg(z'-z)=arg[-i(z-1)]

1d arg(ﬁ;m')z—gﬂﬁ;m)then MAM'=45" et |z'-z|=|z-1;MM'= AM 0.75
Then AMM’ is right isosceles at M.
2a X'=X+y,; y'=y-x+1 0.5
2b x'=y"; then M moves on the line (A):x== 0.5
1 Solution M
la (P)(l —-2;1) and n(P)(]_Ll) Npy-Nip) Ny =0 0.5
1b | —t—2+2+t=0 then (A)c(P) ; -t—2-1+t+3=0 then (A)c(Q). 0.5
1c | AE(-L-1-1);AEV,,, =0andfor t=-2 E<(A) so E is the projection of A on (A) 0.5
1d | AE =3 =R;(A) is perpendicular to(AE) at E then (A)is the tangent to (C) at E. 0.5
2 | H(-t-2;,-1t);EH = 3J2;EH = «/2(t+2)2; t =1 notaccepted. t =-5accepted = H(3;—-1,-5) 1
X=2m+1
3 | (AH):<y=—-m 1
Zz=-4m-1
1l Solution M
02 21
1 — = 0.5
p(A) = c 3
1 5 5 5 1 5
2a L/A) == 2=—; P(ANL)=p(L/A A)=—x—=— 1
p(L/A) 555" 18 P( ) =p(L/A) xp(A) 1833 5

— — — 21 4 5 2 14
p(AmL)=p<L/A)xp(A>=§(g P
2b 1.25

5 14 19
L ANnL)+p(ANnL
PL) = ) p( )= 54 54 54
(AnL) 5
ALY =P—=—
° PAL p(L) 19 0.5
1— p(noneof the two dice shows 6) =1— {&é § 3 N ﬂﬂz“_?’_
3 6 6 3 6 6 108
p(L) + p(two dice show the number 6) = —+— ( j -
54 3 \6 6 108




v Solution M
lim f(x)=—0—-0w=-—0; lim f(X)=40+0=+w ; f(-1,5)[] -8.22 , 0.75
1 X—>—00 X—>+00 .
f(x)—x=xe™
x>0;(C) isabove (d)
x =0:(C) cuts (d) 05
2a | x<0;(C) isbelow (d)
2b lim [f(x) —x] = lim xe™ =0 then the line (d): y=x is an asymptote. 05
3 f'X)=L1+e*—xe* =Lx=LA%L1l+e™) .
(T):y=x+e*
4a f"(x) =0 for x =2 andf "changessign. Then W(2;2+2e7®) is a point of inflection to (C). 0.5
> admits an absolute minimum equals to 1—e [1 0,8 > 0 then f is strictly increasing.
X —00 +00
4b f I(X) + 05
f(x)
-00
5
1
f is continuous and strictly increasing over [J ,then it admits an inverse functiuon h
6a D, — . 0.5
y =] —00; oo
6b | (C”) is the symmetric of (C) with respect to (d). 1
7a | M(X;x+xe™);N(x+xe™;x); MN :\/Exe’x 1
MN =+/2xe™ =g(x
7b V2 9(x) 0.75

g'(x)=0; J2e (1—x)=0;forx =1, MN = J2etis the max imum value
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